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NATIONAL WEDNESDAY, 16 MAY MATHEMATICS

QUALIFICATIONS 10.40 AM - 11.15 AM

2001 STANDARD GRADE

General Level
Paper 1
Non-calculator

Fill in these boxes and read what is printed below.

Full name of centre Town

Forename(s) Surname

Date of birth.

Day Month Year Scottish candidate number

Number of seat

1 You may not use a calculator.

2 Answer as many questions as you can.

the number of the question involved.

not you may lose all the marks for this paper.

3 Write your working and answers in the spaces provided. Additional space is provided at
the end of this question-answer book for use if required. If you use this space, write clearly

4 Full credit will be given only where the solution contains appropriate working.

5 Before leaving the examination room you must give this book to the invigilator. If you do
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FORMULAE LIST

Circumference of a circle: C=nd
Area of a circle: A=nr
Curved surface area of a cylinder: A=2nrh
Volume of a cylinder: V=nrh
Volume of a triangular prism: V=Ah

Theorem of Pythagoras:

a+b’=c’
c b
Trigonometric ratios o
in a right angled
triangle:
B opposite
adjacent
: ! opposite
hypotenuse opposite sin x° = B b b
hypotenuse
%° adjacent

: gnsy =

adjacent hypotenuse
Gradient:

vertical
height ] vertical height
Gradient = - -
horizontal distance
horizontal distance
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1.

Work out the following.
(a) 1854+ 0-61-5-3

o P f%‘g
(3185 +o,:<ff
S
—isus 0
ET &

(b) 3-36 x70
= 336X ICX T 27

= 33 X7 B
(c) 0296 +4

3
Zof 4
(d) 4o 80g [ 2.

PAyrs

= 360
= 120
X

>0

[2500/403] Page three

THIS
MARGIN

Marks | KU | RE

[Turn over




DO NOT

116 Official SQA Past Papers WRITEIN
THIS

MARGIN

’ Marks | KU | RE

A student pays a train fare of £24.

If this represents 60% of the full adult fare, what is the full adult fare?

LOY% = £

e 5 Y +6
= £

= X T0

= £ 40

| CO%

|

3. Brian checks the five day weather forecast for Paris.

Saturday 3 -3 Cloudy
Sunday 2 0 Sunny
Monday ¥ 4 Cloudy
Tuesday 7 2 Sunny
Wednesday 5 -2 Sunny

Calculate the mean minimum temperature for the five day weather
forecast.

- 8 S0 LAl
Wl 3+o+§+a (-2)

f o -~ C
e e oy O‘Q\C
5 & & 2=22
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4. (a) Write the number 1-5 x 107 in full.
o s
1
(b)) Mark the position of this number on the number line below.
Lo bt bl |
|'I'|‘|'|'|'I'I‘I'_Ir| i &3 |‘|
-0-5 0 T 0-5 1-0 1
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5. A seaside promenade is to be covered with tiles.

All the tiles are shaped like this.

Here is part of the design of tiles.
[ ] [ ] [ ] ® L ] [ ] [ ] L ] [ ] L] [ ] L] [ ] L ] L ] [ ] L ]
L ] [ ] L ] L ] L ] L ] L ] L ] [ ] L ] L ] L ] L ] L] L ] L] L ]
[ ] [ ] L]
L] ® L ]
[ ] [ ] L ]
L ] [ ] L ]
L ] [ ] L ]
L ] [ ] [ ]
L ] L] L]
L ] L ] L]
® [ ] L]
L] L ] L ]
L] L ] L ] L] L] L ] L ] ® L ] ® L ] L ] L ] L] L ] [ ] ®
L ] L ] L ] L ] L ] L ] [ ] L ] L ] L ] L ] L ] [ ] L] L ] L ] L]
L ] L ] [ ] L ] L ] L] [ ] L ] L] [ ] L] L] [ ] L] L] [ ] L ]

Draw six more tiles to continue the design. 3
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6. Two trains run from Aberdeen to London Kings Cross.

They both have the same journey time.

Train 1 Train 2
Aberdeen Depart 1455 125
Kings Cross Arrive 2229

Find the arrival time for T'rain 2 at Kings Cross.
LGS — IS0 =  Smeas
|SCO — 3339 = FAR AT minsg
75@,47:,1& = Fhs8 DYy mens

Q5 — 2159 = Blmens
AlS9 — 0459 = Fhus
Fhits Bl muas

Prtived Tewe | O4S9 3

[Turn over
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7. (a) Plot the points A (4,6) and C (4,-2) on this grid.

3

U"O\\..}

: // \\

; )4 Al

2 ﬁ< >D
1 N y

() ABCD is a rhombus with area 24 square units.
Plot B and D on the grid.

M#MM = "Ld(da: 9\41\

—> L x8xei= Y

= L A=y
= ds =

E)(/‘)&)) Q(:b&).
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BCDE is a parallelogram.
Angle ABE = 75°, angle ECD = 26°, angle BFE =112°.
Calculate the size of the angle CBD.

LBEC = A&° (Zfaxgﬁ/le)

L EBF= 180 —(11a+3b)
= (80— 135

= [2° a/?&i%m i /80)
/.CBD = 180 — (351 42)

= ]8O — |IF

- 63° ( LS /8006/‘1

[Turn over
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9. There are 1 blue, 2 red and 3 yellow counters in a bag.
(a) A counter is taken from the bag.

What is the probability that the counter is red?

- L
P'ﬁ {5 3

1
() The counter is replaced in the bag and two green counters are added to
the bag.
A counter is taken from the bag.
What is the probability that it is not yellow?
2
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10. At Dunure Tennis and Golf Club, the ratio of tennis players to golfers
1s 100:350.

(a) Express this ratio in its simplest form.

[CO | 350
[0: 3S
2!

(b) 'The club has been given £16 200.

This money will be divided between the tennis section and the golf
section in the same ratio as above.

How much money will be allocated to the tennis section?

Total wg’/ozués:: 3+ 7F

= 600 —
/pzu)t# o= _CI’-'&%%
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\

NS
o
N
8

[END OF QUESTION PAPER]
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11.35 AM - 12.30 PM

2001 STANDARD GRADE

General Level
Paper 2

Fill in these boxes and read what is printed below.

Full name of centre Town

Forename(s) . Surname

Date of birth

Day Month Year Scottish candidate number Number of seat

1 You may use a calculator.

2 Answer as many questions as you can.

the number of the question involved.

not you may lose all the marks for this paper.

3 Write your working and answers in the spaces provided. Additional space is provided at
the end of this question-answer book for use if required. If you use this space, write clearly

4 Full credit will be given only where the solution contains appropriate working.

5 Before leaving the examination room you must give this book to the invigilator. If you do
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Circumference of a circle: C=nd
Area of a circle: A=mr’
Curved surface area of a cylinder: A=2nrh
Volume of a cylinder: V=nrh
Volume of a triangular prism: V=Ah

Theorem of Pythagoras:

a’+b’=c’
£ b
Trigonometric ratios &
in a right angled
triangle:
tii et = opposite
adjacent
. - opposite
hypotenuse opposite sin x° = — 9 ——
hypotenuse
adjacent
: - cosx' = ——
adjacent hypotenuse
Gradient:
vertical
height 3 vertical height
Gradient = - -
horizontal distance
horizontal distance
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1. Jayne is 14 years of age and a member of Kelly’s Health Club.
She receives details of next year’s subscription rates.
They are as follows:
Category of member Payment in full Payment by instalments
Adult £390 12 payments of £36
Junior
1 12
(under 16 years of age) ol 8 pEyRaenisotLls
Husband and Wife £695 12 payments of £65
(a) Jayne decides to pay by instalments.
How much extra will she pay?
pgm ot ;6 | instodmends = 13X 1Q
67%7@01& = 6 195
/ ()
2
(b) Express this extra cost as a percentage of the payment in full.
Give your answer correct to 1 decimal place.
‘ % {5’ _ ¥ (OO
== [O‘ :},éq P
; o)
= 10'8%
3
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2. The number of passengers travelling by bus from Glasgow to Edinburgh

was recorded for 20 journeys.

TR CAR A
R

(a) Display the information in an ordered stem and leaf diagram.

BN /// &y
9 +439 JileiE s
B9 1820, .3 |3 K E5058

15182 | 14 S8

R W o

THIS
MARGIN
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(b) Find the median number of passengers.

/;q/nd, | Ith vedluo

fMledian= 22T 2¢ 1

2
= B
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3. Shona is planning to buy a new mobile phone.
She knows that she makes between 60 and 120 minutes of calls each month.

Her local phone shop advises that the “All-Talk” or “Talk-Time” tariff are
best for her.

They give her the graph below to help her decide.

£,
36
/p"
-,
‘,\"
Y‘*,"»‘
29 /,{ =
- e /
Tariff i Ta\k‘rg‘ﬁ\
] /"
25
//
//
18
60 90 120

Minutes of calls

Shona chooses the All-Talk tariff.

Comment on her choice.

AU -Talk cs cheaper less
MQOM ZZZ&M
W étotwémdé_

M""'M LS & 3 ‘ e - [Turn over
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4. A manufacturer has changed its washing powder so that less powder will be
needed for each wash.

As a result the new 1-5 kilogram box gives the same number of washes as
the old 2 kilogram box.

A family wash used 96 grams of powder from the old 2 kilogram box.

How much powder will be used for a family wash now?

[ Deorect /Oﬂ»apmt’m) |

Akg  9eg
//%; C?é%&:l,t‘géz
/'S@ LEXNS = 7{9
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5. Davina sees this advertisment for CAR HIRE while on holiday in Spain.

UNLIMITED MILEAGE, INSURANCE INCLUDED

‘ 3100 pesetas per day

e 20000 pesetas per week
g 5560 pesetas per day

HrDsive Leckeas 35000 pesetas per week

ADD 15% TAX

She decides to hire the Trekcar for 4 days.

Find the cost, in pounds sterling, of hiring the car if the exchange rate is
£1= 256 pesetas.

Cost = 5S6OX Y
G =D 232,40

1S Tax = ©11S X 33340
= R336
—Total Cost = 23240+ 3336

Cost = Qs5FL +~ 3506
aod,x929Z4416248
( ) = C?C?“?Oéélg
= 29991
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6. Mairi is planning to paint the walls of her room with emulsion paint.

The room 1s in the shape of a cuboid, with the dimensions shown.

IR NS :
' / i
N\ window :1-5m;
I i L}
i f i
]
]

‘_‘—\ F 3
1m

6m R
door(|2m . 2:5m
y

4m

(a) How much paint does Mairi need to paint the walls ©
of her room?
E jon
Mea gf-sicle walls = (6xa sr)+ [exzs)l | T

o= 30 I’)’L Covgrage

Area of front wold = ( c,an 5)— (1 2 3.) || covers g2
/mn#&m@ﬂa<%msHQWQ

T%ﬂ%%n#mm&hﬁgfg+?

us — 16 =328 2% 2
(b) Paint is sold only in 1 litre and 2-5 litre tins. %
What will be the minimum cost of painting Mairi’s
room with emulsion? Emulsion
S d 2} litres £12-75
/]/}(,/Lu%wm C%f*—" /c?"?g"f' 6'SO 1 litre £6-50
= £19.35 ;
(3 x}aﬁetM:as&e»Sb:ﬁf%-SO) i
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7. John is laying a concrete floor for his garage.

T'he floor is to be a rectangle 5-5 metres by 3 metres.

5:-5m

To check the floor is rectangular, John measures a diagonal.
What should this measurement be?

_ a : _ , )
s = 3705057 (b Fythagoras
xX*= 9+ 3038
x> = 3935
x =39 a5
X = 36,
X = L om

\

\

[Turn over
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8. At the Ewington Athletic Club the length of one lap of the track is

400 metres.

In the 10000 metres race a runner takes an average of 65-2 seconds to
complete each lap.

At this pace, will this runner break the race record of
27 minutes 12 seconds?

10 660 = 35 Laps 1060+ 00)
QS X 65 A& = I630seconds
B3O — 60 = A7l o rminwdes
= QAFmens 1O soconds

(’o:fexé.o)
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9. (a) Simplify
3Q2x+4)+4 (x-2).
= Lat+|akyyx — 3
= [Otc+ [
3
(b) Solve algebraically the inequality
6x + 2 < 20.
(o< 18
xE D
2
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10. The base of a round cake tin has
the same area as the base of a
square cake tin.

The round cake tin has a radius of
10 centimetres.

——length—»]

What is the length of the base of the square cake tin?

Area of corcle = g
L%l o7
= 3 1item”
Prea of sguate = Lo =2
= L =3I

= [ = |FFem

[2500/404] Page twelve




Official SQA Past Papers

DO NOT
137 WRITEIN
THIS
MARGIN
o . o Marks | KU | RE
11. (a) The base of a lift is in the shape of a rectangle with a semi-circular end
as shown.

1-2m

Calculate the area of the base of the lift.

= LTF> + b
.——(J—x‘f‘%o'{s‘j (/ e X &)
e U VAR

= & &SMm*>

(b) The lift is in the shape of a prism and is 220 centimetres high
Find the volume of the lift.

\l

\/ A A’ (h”;;lm)
= Q1AS X At

= /95m3

|
1

220cm

(@(@((

2
[Turn over for Question 12 on Page fourteen
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12. An architect is designing a room in an attic of a house.

437 v

A N
'
A

O
B
A

* The room is 4 metres wide.
* The width of the roof i1s 9 metres.
* The sloping part of the roof makes an angle of 43° with the attic floor.

To satisfy building regulations the height, £, of the room must be not less
than 2-3 metres.

Does the architect’s design satisfy the building regulations?

Give a reason for your answer.

i;p E&un Liu @

5! azl; tan 13° e
"'--—-15 A_, ﬁ_&‘gg’an.
Yes, tho airchinct's design satigfies
%/buaédz 61&%
}chg%t FCom. ts XN 33M
pohice €S | -ﬁﬁaﬂ_i@m! -

J

[END OF QUESTION PAPER]
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